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Q.No: 1 Name two methods by which it is used to replenish the soil with nutrients?
2426878

3 < faftrdt & T 5y, % gR1 O awl & 1y gt B R & R & o IunT fbar S 2

Soil Drilling and Crop Rotation

A
et f3Ri ok woa AewH
Crop Rotation and use of manure
B
A A SR WG HT STIRT
Use of Manure and Dripping
C
| MR ¥R #1 IuEm
Use of Manure and Seed Drill
D

e 3R i fga &1 IuhiT

Correct Ans : B

Subject : General Knowledge

Q.No: 2 Who among the following had introduced the Pradhan Mantri Gram Sadak Yojana?
2427381

frafafed & ¥ fram gyresh a9 ae gE &1 A

Narendra Modi

A
BRI
Atal Bihari Vajpayee
B
e fagrt areadt
Rajeev Gandhi
C
reitg et
Indira Gandhi
D

R i
Correct Ans : B

Subject : General Knowledge

Q.No: 3 Under Pulse Polio Immunization program, children in the age group of years is administered polio drops.
2427393

Ued Ui SebTeyl Bk ¥ ded, ¥ Bt 31g &l & Sl B iferEl STY e S B
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0-5 years
A

0-5 af

0-4 years
B

0-4 3

0-7 years
C

0-7 af

0-3 years
D

0-3 af

Correct Ans : A

Subject : General Knowledge

Q.No: 4 Who is the founder of the one of the biggest e-commerce group ‘Alibaba’?
2428876

TaQ 98 - Tgg SrcllaTer F YRS B 82

Jack Ma
A

S a

Sundar Pichai
B

e g

Parag Aggarwal
C

TRTT 3rard

Phalguni Nayar
D

BTEMT ARR
Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which of the following is not the major benefit of WTO?
2428877

Fofifed & ¥ S1F-91 fay SR W1 &1 THE an g 82

WTO helps promote international peace and facilitates international business.

A
fy SR WeT SRSt ifd B TgraT 37 § Weg HYAT § SR SRR AR B GiAYT Te FRaT 31
WTO helps fostering growth of developing countries by providing them with special and preferential treatment in trade related matters.
B
fay TR e famraia 3 B AUR ¥ YEita aal § R ok TReliE STER veH $XF 3% AT B ggar ¢ | "ag oear o
To promote exchange stability with a view to maintain orderly exchange arrangements among member countries
C
T 3 & v sgafya faf g srawr s91e @A 9t 2@ @ g R «t 9gar 3
Free trade improves the living standard of the people by increasing the income level.
D

Yod IR RN & Siia TR § gi P JUR BT &

Correct Ans : C
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Subject : General Knowledge

Q.No: 6  What is the capital of Bhutan & Myanmar respectively?
2428934

e 3R AR T IS HAS: &1 82

Jakarta, Tokyo

A

StoTal, et

Phnom Penh, Bangkok
B

W %, Soie

Thimphu, Naypyidaw
C

g, Adst

Moscow, Lima
D

w1,
Correct Ans : C

Subject : General Knowledge

Q.No: 7 The Norwegian Sea is located in which ocean?

2429063
AT AR 59 AERITR # fRd 87
Arctic Ocean
A
THeSH WEETR
Pacific Ocean
B
URIid AR
Atlantic Ocean
C
Jedifes HeTNR
Indian Ocean
D

fEg v R
Correct Ans : C

Subject : General Knowledge

Q.No: 8 The volcanoes Mount Vesuvius and Mount Etna are located in which country?
2429064

e YTy ok AT Te Ay fe 3w & R §?

Spain
A

L]

Japan
B

KICIE]

(o} Italy
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gedt

Indonesia

AT
Correct Ans : C

Subject : General Knowledge

Q.No: 9 When was a Supreme Court established in Calcutta?
2432127

Faed § Fata T B R B9 g3 A2

1774
A

1774

1775
B

1775

1776
C

1776

1777
D

1777

Correct Ans : A

Subject : General Knowledge

Q.No: 10 When was the Water (Prevention and Control of Pollution) Act passed?
2432152

A (UGHOT B AHUH R =) sifeifem wa wiia fear mar?

1952
A

1952

1966
B

1966

1970
C

1970

1974
D

1974

Correct Ans : D

Subject : General Knowledge

Q.No: 11 In which of the following places, the Muslim League was founded in 1906?
2433581

foffed & 9 frg =M W 1906 & g™ o ot wior g8 o
A Dhaka
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Cica)

Calcutta

HAbdl

Bombay

are

Madras

o™
Correct Ans : A

Subject : General Knowledge

Q.No: 12 Who called the “Cripps offer” a post-dated cheque in the name of a crashing Bank?
2433591

e "fre SR BT U Gad §U §F & A W URS-3S A% Hgl UT?

Mahatma Gandhi

A

HETeAT ek

Lala Lajpat Rai
B

GIGIGISEGRIC]

Vinoba Bhave
C

farrar wra

Annie Besant
D

ot s
Correct Ans : A

Subject : General Knowledge

Q.No: 13 Which of the following Five Year Plans aimed at the development and rapid industrialization of the public sector?
2434461

Fafaiaa o ¥ frg daasiy e &7 3T=T Adee & &1 e 3R dsit I iR o7 ?

Second
A

[l

Third
B

fedt

Fifth
C

Tigdt

Tenth
D

gt

Correct Ans : A

Subject : General Knowledge
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Q.No: 14  Who is the current head of National Cricket Academy?(July 2023)
2437131

TPt e sl & adu UE $F 87 (JATs 2023)

Anil Kumble

A
e Faat
VVS Laxman
B
Jidiew wgaT
Rahul Dravid
C
g Ffag
Sachin Tendulakar
D

| dgaav
Correct Ans : B

Subject : General Knowledge

Q.No: 15 Mando folk music is associated with which of the following Indian states?
2440760

A A Wifta Pl § 9 e R o & el 82

Maharashtra
A

HERTY

Goa
B

Tt

Gujrat
C

TSR

Puduchery
D

LSE

Correct Ans : B

Subject : General Knowledge

Q.No: 16 The two rock-cut tanks known as Ganga and Yamuna can be found at

2441202
T SR TGAT & AT A I TH AT & Ab-Fe &b 7 UIe o 9ad g
Ajaigarh Fort
A
Ervurdcal
Nachna Kuthara Parvati Temple
B

T FSRT U HiGR
C Chaumukh Nath Temple
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<Ry Y HRY

Rewa Fort

Har frar

Correct Ans : A

Subject : General Knowledge

Q.No: 17 In which of the following places of Madhya Pradesh is the Ek Mukhi Datta temple?
2441404

TP Tt T AR A vew & ufated # ¥ e v w Ra g2

Omkareshwar
A

SHBTAR

Pithampur
B

g

Panchmarhi
(e

LEL)

Maheshwar
D

R

Correct Ans : D

Subject : General Knowledge

Q.No: 18 river runs through the Panna national park.
2441409
7 AT P I F R ToReT B
Ken
A
¥4
Betwa
B
aar
Narmada
C
THa
Chambal
D
EEC]

Correct Ans : A

Subject : General Knowledge

Q.No: 19 Maharana Pratap Singh was the 13th King of which of the following kingdoms?
2776142

TERIoN Yo Rig Fafated # ¥ fod =9 & 13 3 o 92

A Mewar
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Ao

Raisen

I

Kutch

Ca=3)

Gogunda

Correct Ans : A

Subject : General Knowledge

Q.No: 20 Where is the Headquarters of the world trade organization (WTO) ?
2776143

Ay IR TeT (Ssgciel) B Jead FEl 97

Geneva
A

fmar

London
B

GEL

Osaka
C

ST

New York
D

oy

Correct Ans : A

Subject : General Knowledge

Q.No: 21 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements
2429277 carefully and select the correct answer to the question from the given options.

Assertion (A): It is necessary to recycle non-biodegradable waste.

Reason (R): Animals are also at risk since they can consume it and become poisoned and die.

= Fofoiad vy & <1 o § S 3 T 1 "sifiisym iR g &) "BRU & TU & dad a1 T gl
MUY & ST YT BT YYD S Bt § AR U MY et T I Uy &7 Te) IR I 71

B (A) : IR-Fefidwrolia Ok BT RS0 BT AW |
PR (R) : FHERI BT 2t WRT ¢ TP T SHBT Y BR Thd § R TR T Thal § AR TR Idhd g1

Both A and R are true

T 3R IR I g &

Both A and R are false

T 3R SR S 3T
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A is true, but R is false.

T I ? AfPp 3R 3 21

A is false, but R is true.

T I g A R |3 1
Correct Ans : A

Subject : General Science

Q.No: 22 The animal in which the cells are properly arranged into tissues and organs and the digestive tracts are complete along with the anus are grouped under-
2429842

or oig ¥ PR s F Sl IR ot F afyd gt § 3R Tar & ry-Try ure fopant qof gt 8, S o & arffea e e 2-

metazoans
A

Herig

eumetazoans
B

PULEINE

parazoans
C

LN L

cryptogams
D

Eguug

Correct Ans : B

Subject : General Science

Q.No: 23 Observe the following figure given below. This organism belongs to which kingdom?
2429915

Monera

wRT
B Fungi
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Cca
Algae
C
RiCICH
Bacteria
D
Jaifar

Correct Ans : B

Subject : General Science

Q.No: 24 CFCs are carbon compounds having both , which are very stable and not degraded by any biological process.
2431693
Ruw R, s e § e , S 8 B, St agd R 813 € ol fhalt ot Sifde ufthan @ sramfia i 8
chlorine and fluorine
A
FANE 3R wIRE
chloroform and fluoride
B
FARGTH 3R wiRTgS
chlorophyll and fluroscent bacteria
C
FARIPe 3R wiRNe Saifar
chlorine and magnesium
D

FIN ok AffRrw

Correct Ans : A

Subject : General Science

Q.No: 25 Hyperpyrexia can occur when a person’s body-temperature rises above -

2434299
BEIRURRTT qe & Tebal & v1d bt safdd & TR T qToAE J affie 8 9T -
103 °F
A
103 °F
106 °F
B
106 °F
3g°C
c
39 °C
40 °C
D
40 °C

Correct Ans : B

Subject : General Science
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Q.No: 26 We call the distance covered by an object in a unit time as the of the object.
2436410

T SHTE THT B Pl TG gRI T 31 T A B g I P/ B ____ Hed 7

speed
A

e

Momentum
B

GER

Magnitude
C

STHR

Displacement
D

fames

Correct Ans : A

Subject : General Science

Q.No: 27 Epsom salt is the hydrous form of -

2437204
TEH Tlee 5w gRgy ¥ 82
Ca(504)2
A
Ca(S04)2
CaS04
B
CazS04
MgS0,.7TH,0
C
MgS0,.7TH,0
MgClz
D
MgClz

Correct Ans : C

Subject : General Science

Q.No: 28 Global 500 award is given by which of the following organization?

2439799
TEd 500 REGR FEffed & ¥ fow =i gr1 ver fbar s 82
Unesco

A
kil
Unicef

B
e

C WTO
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WTO
UNEP

UNEP
Correct Ans : D

Subject : General Science

Q.No: 29  Which layer of the atmosphere is most important for an ecosystem?
2439843

yRfRufae! a F 1T argrvsd 3 & - T Rd Taffie Aeay 2t 82

Thermosphere
A

aTE ArgHed

Stratosphere
B

TqHATY HS A

Exosphere
C

afeiea

Troposphere
D

&ty sa

Correct Ans : D

Subject : General Science

Q.No: 30 Which of the following colors is least scattered by fog, dust, or smoke?
2439877

Frofifed & ¥ oF O 9 S, 4a a7 YU 9 Jo HH fFeRar 8?2

Red
A

re

Black
B

Ly

Brown
C

o

Yellow
D

e

Correct Ans : A

Subject : General Science

Q.No: 31 How many pairs of salivary glands are found in humans?
2439924

T # foram Siel AR g ol S 82
A 3
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12

12
Correct Ans : A

Subject : General Science

Q.No: 32 Zaid crops are generally characterized by their ability to

2783653
TG GOt T ARG o AR W SABT A P &Har Bt B
Withstand drought conditions
A
@ 3 RS &1 w1 s
Survive in low-temperature environments
B
HH YA a1 JTATEROr § SHfad T
Produce high yields per unit area
C
ufd go1é @ # I=1 Iu Va1 AT
Withstand strong winds
D

ST gaT3if BT JRAAT HAT
Correct Ans : A

Subject : General Science

Q.No: 33 The image/jpg shows special reproductive structures in a plant. Which mode of reproductions is exhibited by such plants?
2783799

B T B A AW gor IRl &) quidt €1 W& Al g1 usH @) i @l welRia @ ord @2

Spore formation

dteroy fmfor

B Budding
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et

Fragmentation
C

fa@sa

Vegetative propagation
D

qEfd AR
Correct Ans : A

Subject : General Science

Q.No: 34 The table shows classification of two organisms — Monarch Butterfly and Giant Pangolin. How are the two organisms related?

2784634
Kingdom | animal Animal
Phylum arthropods Vertebrates
Class msects Mammals
Order Lepidoptera (butterflies and moths) | Pholidota
Famaly Danaidae Manidae
Genus Danaus Manis
Species Danaus plexippus Manis gigantea
qrfereT & Sat o7 Fifeur gxifdt § - TS Sexvars R faRnamm e | 31 oid Y Tefid 82
EUGHEEICEL EICEL
g | S1gie By L
T | Sfrer (faedt s wT) | HEsi
Fa | =12 Afrs
== 3
G | S e Afaa fettean
They are closely related as they belong to the same family.
A
% & IRAR ¥ T F FRUT ITH TERT TEY B
They are distinctly related as they belong to the same kingdom
B
3 TP € W9 A TIRE e S SR WY FY J Tl §
They are not related at all as they belong to different kingdoms.
C
3 faegpa ot Tafa T € Fife 3 eremr-erem sa @ Tefia B
They are very closely related as they belong to the same genus.
D

q @ & wonfa | Wl e & SR 9gd fAbe | Safia g1
Correct Ans : B

Subject : General Science

Q.No: 35 Why is sexual reproduction important in plants?
2784714

el # A I T Aewayuf 82

It leads to the formation of seeds and fruits for dispersal.

99 e & R e ok weil o1 Fmfor g 31

B It helps plants obtain energy from the sun.
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Tg Wiel &Y gF A ol urw B W Weg e gl

It allows plants to take in carbon dioxide from the atmosphere.

g Uil B IIATERYT  BTEA SFATFAES A1 BT AT a1 B

It aids in the absorption of nutrients from the soil.

Tg frdt ¥ Wive af & sraxivor ¥ grar i gl
Correct Ans : A

Subject : General Science

Q.No: 36 Find the odd word out.

2424525
SRITA Teq BT T4 BIO
TV
A
&dt
Refrigerator
B
AMpereR
Bullock Cart
C
Fermst
Washing Machine
D

ST W=
Correct Ans : C

Subject : General Reasoning

Q.No: 37 Find the odd number out.

2424536
ST T BT T DI |
8
A
8
27
B
27
64
C
64
225
D
225

Correct Ans : D

Subject : General Reasoning

Q.No: 38 Find the odd word out.
2424542
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ST Weg BT T BIoTT |

Saturn

RUE]

Jupiter

gt

Mars

Moon

FgHT
Correct Ans : D

Subject : General Reasoning

Q.No: 39 In the diagram, Triangle represents the Bengali medium Students, Circle represents the Students work in Private sector, Square represents the unemployed
2426587 gtydents and Rectangle represents the Students who work in Govt. Sector.

How many Bengali medium Students are there who work in private sector?

g B, Byt Sareht Aremm & i &1 Ui Far 8, 99 ol &7 & BE & B &1 ufaffeid SRdr 7, 3 SRISFIR B &1 UiafAftia wrar § SR Siad WeR! &8 & &1 Ha

ara B @1 Ui B g
15 5
9 1A
6 |4\
2

e Sl ATy & B § S ol & H B wRa 82

1
A

1

6
B

6

9
C

9

a4
D

a4

Correct Ans : C

Subject : General Reasoning
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Q.No: 40 Which of the following diagram indicates best relation between Lion, Animal and Human?
2426735

Ffiad # § S a1 3@ 2R, Y 3R Aa P 9 Jad 3= ey B qidr 82

© o
© o

Correct Ans : C

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427793 appear when unfolded.

r— — — A —

| |
F = — o :

—
|

o
0

A fw 7T Uy oA B T SIS & THS B ST IR FTeT T 7, & TS IR NP F awedl H ¥ I I P &1 701 W, I fF A 3R F1e T HFTE B @ R
i gt

._i’.__ :

oo

A (=[] =]

[=]-J-]=—]
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[=FE1=]

OooO

1= R-1—]
] == e =]

Cl=1=L]

Cl=1=L]

Doos
(=TT

=0 es
[=ET=]

Correct Ans : D

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427805 appear when unfolded.

LN E
s \ ;. “\
i
I
@ :
\
2

Fr U 7T Uy opfa T TP SIS & Th Y HIST 3R PIet T B, & TS IR Pl & Avedl H A IU IR Pl &1 T07 B, N1 & A 3R $1e T HA B W W
STHf gt

- .
& ~ - -
v \
! [
'
A9
=
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Correct Ans : B

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427806 appear when unfolded.

T o
o a0
o ',
r, © L
A
.
ey . @
" v
ho
B - :
-] L]
10
o e
.
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Correct Ans : A

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427818 appear when unfolded.

3Tepiel F |
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oo

0° o’
o e

Correct Ans : D

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427833 appear when unfolded.

P S

%, o
o

%,
N Uqb

N gqb

%, o

ooo ~
o
& Q)

o

Oy o7
[+]
NI

(-]

qb
< %,

0
OO bb

]

)
£J.n K
OO

)

qﬂ?

Correct Ans : C

Subject : General Reasoning
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Q.No: 46 Which answer figure will complete the pattern in the question figure?
2433185

41
41
EY
BY
5
5
Y
Y

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.
2433503

I NP Bt UgAH B S Yo BT G Bl g
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N N7 7z %%

SSEE

Correct Ans : D

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434914

o)}

136::7:121

10
A

10

12
B

12
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11

13
Correct Ans : C

Subject : General Reasoning

Q.No: 49 Identify the classes that best represents the relationship among the given diagram.
2435566

I AR Y TeT B S 3T TN S F T ey BT I 3T ufaiifiid FRa B

College, University, Students

A
Hioe, fayfaemay, s
Animals, tiger, car
B
qg], 919, PR
Delhi, Sri Lanka, Asia
C
Atmosphere, Hydrosphere, Biosphere
D

qrHEd, davsd, WaHsd
Correct Ans : A

Subject : General Reasoning

Q.No: 50 Identify the diagram that best represents the relationship among the given classes.
2435678
Honesty, Intelligence, Aptitude

39 3RG B TgdH B Sl fou T AN & s Geiw b1 God 331 ufafAfeed S 31
AR, gfgwa, dvgar
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Correct Ans : A

Subject : General Reasoning

Q.No: 51
2726849

In a certain code, 'INDIA’ is written as ‘KOFJC'. How ‘CURRENT’ written in same code ?

et Plg uTeT H, INDIA’ B 'KOFIC’ & w0 # frad ¥ 34 #ls & 'CURRENT’ &1 &1 forad 22

EVTSGOV

EVTSGOV
EVSTGOV

EVSTGOV

EVTUEOV

EVTUEOV
EVSTVOG

EVSTVOG

Correct Ans : A

Subject : General Reasoning

Q.No: 52
2727056

Study the following information carefully to answer the question given below-

Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the highest marks is given rank 1
and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more marks than E but less than D. B got the second least
rank and F got the second highest rank, C got less marks than A.

Who got the highest marks?

Frofifed TFERT BT eaFgde Siega BR i 3 T Uy &1 S R

BEBH A, B, C, D, E 3R F &1 & =¥ B8 & a1dl §| bl < afekaall ol Twr Yo Wi Tt g1 | qad Sifieh 3fch U = aTdl BT Bl ¥ 1 €t 9t § 3R Gadl B 3icb T
P I BH B XD 6 & KA 81 B B C AR F I T B i A §1 A &Y E ¥ 3ifiep AT D A 7 i A §1 B &Y G T FH I it 3R F ) gt T F=ad 3
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fircht, c # A Q HH 3@ fAral

TR e i frue i §2
E
A
E
B
B
A
o
D
D

Correct Ans : D

Subject : General Reasoning

Q.No: 53 Study the following information carefully to answer the question given below-
2727057

Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the highest marks is given rank 1
and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more marks than E but less than D. B got the second least
rank and F got the second highest rank, C got less marks than A.

How many marks does E got?

Frofifed TFERT BT eaFgdd Sega &R - e T vy &1 3w iR

BEBH A, B, C, D, E 3R F &1 & =¥ B8 &b a1dl §| fbel <l afekaall ol Tur Yo Wit Tt §ofT | ey Sifieh 3fch U = a1l BT Bl ¥ 1 €Y 91t § 3R Gad $H 3icb T
P I BH BB 6 & KA 81 B B C R F I T 7 3 A §1 A BT E ¥ 3ifiep AfFT D ¥ 7 3/ A B1 B H) g T FH ¥ et 3R F &1 g 99 I=ad 36
fircht, c # A § H1 3 fAral

E & fpan 3w fird €2
40
A
40
38
B
38
18
C
18
Data inadequate
D

3T i

Correct Ans : D

Subject : General Reasoning

Q.No: 54 What should come in place of question mark?
2727094

Uyara® R & I W T SRR
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£
£
£
£

Correct Ans : A

Subject : General Reasoning

Q.No: 55 Read all information carefully and answer following question?
2727106

Digits/Symbols- * § %+ # A © 354721689

Codes-AB CDEFG HIJKLMNOP

(I) If first place is even number and last place is odd number then both places are to be coded by first digit / symbol.
(I1) If first place is odd number and last place is even number then both place codes will be interchanged.

4+ #$1

fau o e &Y Ug S8R U U Uy &l IR 2

HAFFAF-*S %+ #A©3547216809

HE-ABCDEFG HIJKLMNOP

(1) 3f% Uga ve W T ¥ IR Sifaw e faww wem R o ved ok Siftw ue & @IS § usdl ue @1 Pis fran smem

(11) T vgan e fawm e § SR Sifom ug ww G B, df Ued ok oifom ug & Siel &1 omow # R ufad- faar smem|

4+ #$1
A JDFIO
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JDFIO
JDEBJ

JDEBJ
JDEMB

JDEMB
JDFIM

JDFIM
Correct Ans : B

Subject : General Reasoning

Q.No: 56 Two tailors X and Y are paid a total of Rs. 550 per week by their employer. If X is paid 120 percent of the amount paid to Y, how much is Y paid per week?
2422266

Bl golf X 3R Y &1 3% et gRT Ufd Twiig $d 550 U BT YA a1 |1 31 afg X &Y Y BV AT 1 T MR BT 120 WA= Y1 5 S 8, @ Y 1 v gerg faan
WA o e 82

Rs 200

200 39T

Rs 250

250 30
Rs 300

300 3T
Rs 500

500 ¥UY

Correct Ans : B

Subject : General Maths

Q.No: 57 If 11 % of a number exceeds 7% of the numbers by 18, the number is
2422315

e Tl T &1 11%, 39 T & 7% I 18 31 8, o 98 T &

72
A

72

360
B

360

450
C

450

720
D

720

Correct Ans : C
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Subject : General Maths

Q.No: 58 The ratio of 3 hours to 180 seconds is:

2429463

3 He ¥ 180 I BT UM 8:

60:1
A

60:1

120:1
B

120:1

180:1
c

180:1

150: 1
D

150: 1

Correct Ans : A

Subject : General Maths

Q.No: 59 A car covers a distance of 500 metres in 30 seconds whereas a bus covers a distance of 45 kms in 45 minute. The ratio of their speeds is:
2429497

TF BR 500 Wex 31 g8 30 Jhs & 79 B § TP b 99 45 fpamier 3t gt 45 e & 70 It 31 91 1S 7 30 3

3:2
A

3:2

2:1
B

2:1

4:3
C

4:3

1:1
D

1:1

Correct Ans : D

Subject : General Maths

Q.No: 60 Find the amount when: Principal = Rs 2650, rate = 8% p.a. simple interest and time = 5/2 years
2432817

o1 1 PIY - ST @A = 2650 U, & = 8% Wi I LR SN W R THT = 5/2 T9 g2

3180
A

3180

3160
B

3160

C 2650
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2650
2660

2660
Correct Ans : A

Subject : General Maths

Q.No: 61 What would be the simple interest obtained on an amount of Rs 6055 at the rate of 15% p.a for 6 years?
2432886

6055 TUY B AR W 15% HfT I8 BI &R F 6 T8 P 7T TR SIS fHaT gm?

Rs 4098.0
A

Rs 4098.0

Rs 6987.0
B

Rs 6987.0

Rs 2009.8
C

Rs 2009.8

Rs 5449.5
D

Rs 5449.5

Correct Ans : D

Subject : General Maths

Q.No: 62 : 3 4
2433006 Sneha and Reema want to make clothes for their dolls. Sneha has s meter cloth and Reema has E

meter cloth, and Sneha gives %part of the cloth she has to Reema. How much total cloth does Reema

have now?

FIZT ST F9T AT AT 7 7 Fq2 TTATET A18AT 2 m@%wgtﬁﬁw%aﬂ‘{ﬁm%mg
Hrew FTET &, 3 FAET A TR F HAE TS A A AT T T I a7 o v Fwww

14

15

14
15
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15

17
45

17
45
Correct Ans : A

Subject : General Maths

Q.No: 63 If 16% of a = 8% of b then 40% of a is,
2435203

Tfe a BT 16% = b B1 8% 8, @l a BT 40% B,

20% of b
A

b &T 20%

10% of b
B

b &T 10%

16% of b
C

b ®T 16%

80% of b
D

b T 80%

Correct Ans : A

Subject : General Maths

Q.No: 64 A:B = 5:8, B:C =8:11, then find the value of A:B:C.
2435452

A:B = 5:8, B:C =8:11, & A:B:C &I U J1d HIfTg|

6:8:11
A

6:8:11

8:5:11
B

8:5:11

5:8:11
C

5:8:11

6:5:13
D

6:5:13

Correct Ans : C

Subject : General Maths

GET IT ON

Google Play
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Q.No: 65 If Raman pays a total of Rs 5500 to their employee’s Arun and Varun per week. If Arun is paid 20% more than the amount paid to Varun. How much Varun is
2437812 paid per week?

e XA S0 FHARY 30T 3R TV HI Ul Ylg F& 5500 FUY BT T Bl 31 UG 0T Bl TH0N BT YT Bt T R A 20% 1S YA b e 31 901 I ufey qg
feba 7T e ST 22

Rs.1500

1500 3T
Rs.2000

2000 TT
Rs.2500

2500 TT
Rs.3000

3000 ¥Ud

Correct Ans : C

Subject : General Maths

Q.No: 66 Find the time in which the simple interest on a sum of money be equal to the principal at the rate of 20 % per annum?
2439131

g THT 1 P o ufy af 20% B ER Y 4RI TR A R gAY & IAH S Sl 82

3 years
A

399

2 years
B

29

5 years
C

5 a9

8 years
D

8 9y

Correct Ans : C

Subject : General Maths

Q.No: 67 Find the compound interest on a sum of Rs 1500 for two years at the rate of 5% per annum compounded annually.
2439156

1500 T B} AR R & I F 1T 5% v a6 B R F AP Iehglg <t I BRI

Rs. 153.75
A

153.75 393

Rs. 156.25
B

156.25 ¥9%

C Rs. 125.25
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125.25 30

Rs. 142.65

142.65 ¥9d
Correct Ans : A

Subject : General Maths

Q.No: 68 A furniture when sold for Rs.11000 gives a loss of 12% to the merchant who sells it. Calculate his loss or gain %, if he sells it for Rs.13375?
2730431

et wHifeR &1 919 11000 ¥. B 991 91T § SAR S 13375 . H 991 9T af ATUR 1 B9 a1d JHa a7 BRI Bt Ui I e

Profit of 5%

A
5% BT d1YH
Profit of 7%
B
7% BT IYH
Loss of 8.5%
C
8.5% hT d1YH
Profit of 9.5%
D

9.5% BT dTH
Correct Ans : B

Subject : General Maths

Q.No: 69 A mixture of 1920 ml is prepared of water and oil in the ratio 5:3, respectively. If this ratio is to be corrected to 1:7, then how much more oil should be added
2781121 yfter removing the excess water such that the total quantity of the mixture remains the same?

1920 fircficiieR forsyor & o oiR O BT U HH: 5:3 7| A T AU BI Tl TR 1:7 BT 8, al [A01 § Ut FHebiaet & a1 fbat 71 # Ot STer W arfes fysor 3 e
T @?

840 ml

840 fidfiehez
960 ml

960 firefielter

1120 ml

1120 fiefiehez
480 ml

480 fydfiediiex
Correct Ans : B

Subject : General Maths

Q.No: 70 Abhishek and Vishal purchase 6 shirts and 9 shirts of same cost price respectively from a shopkeeper. Abhishek and Vishal give Rs. 2200 and Rs. 3400 to
2781237 shopkeeper. The shopkeeper returns Rs. 40 to Abhishek and Rs. 25 to Vishal. Find the difference between the profit percent earned by shopkeeper from
Abhishek and Vishal if the marked price of a shirt is Rs. 420, which is 40% above the cost price.
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e SR AR U gHMER I TAM H g I1d 6 XC 3R 9 U WiedT 3| HTHYH 3R fA=Td gHHER Bl HA: $.2200 3R ¥.3400 d | GHMER SN B 5. 40 3R
f=ma @1 .25 909 Bl 3| NG AR A T gHHeR gRI iRl fvar mar Ty vfawra & T BT SR I B A TP A BT Sifhd Ted $.420 B, S T T T 40% 3ifd
?

6%

6%
10%

10%

4%

4%

5%

5%
Correct Ans : D

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426643
7-18+6x16+4=-1

faw 7T TR0 B WEl M & o fove < Semelt ®I ouw ¥ geal 9 d1feu?

7-18+6x16+4=-1

6 and 4
A

6 3T 4

18 and 6
B

183k 6

7 and 16
c

7 3R 16

4 and 7
D

43R 7

Correct Ans : C

Subject : Mental Ability

Q.No: 72 Yirhich of the following cubes can be created by folding the given figure?
2429648
J|B

C
K
Z
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& 95 Iofa # FAisax AT F § FiF I 99 I 51 Gar 87

J

NI~ |0l ®

Correct Ans : A

Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem
2430230 ¢t pe at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Quality and Quantity have a price tag. India is allocating a lot of funds for education.

Conclusions:
I. Quality and quantity of education in India will improve soon.

II. Funding alone can enhance the quality of the education system.

Frofafad oy & <t By iR ITF a8 & FISHY (1) SR (11) 3T T B 3Mueh! Bl &1 T AT 7, ¥t & 3 HTaa: T1d aet & i ol 21 811 Ul U8 o &= ¢ b fau g
el & & o w1, A BIE B, YT T FUF BT Urae HRal 81 U7 SR B 99 B
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FY: UM AR A BT U Hed T gl 81 W e & e sga aifie o amdfed o2 w1 81
forse:

1. YR H e 1 orawn 3R g1 H Seg & YR g0

11. 3%d o diwor e yoneht @t T[urasn &1 SgT JabdT 81

Only conclusion I follows

A
Fae ey 1 SR BT B
Only conclusion II follows
B
Faa Frepd 11 3R ST @
Either conclusion I or II follows
C
g dt P 141 11 SR AT @
Neither conclusion I nor II follows
D

T fFrspd 1 3R T € 11 3R HRar
Correct Ans : A
Subject : Mental Ability

Q.No: 74 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem
2430239 {4 pe at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: The number of persons per house is 10 in urban areas whereas it is 14 in rural areas. The average is about 6.
Conclusions:
1. The population in the rural areas is higher than that of urban areas.

II. Most people live in the same house in the rural areas as compared to those in the urban areas.

fofafad oy & < By ok I9F a8 & FAsHy (1) SR (11) 3T T §1 Siuss! Hu=i &) I AT 7, Ha & 3 e Jd ot & g el g1 811 sue! a8 @ = ¢ T fau Mo
el & F FH 1, A B T, T T Hu BT UIa BT 31 37 ST B 9 B

FY: RS & § Ui IR SAfkadt @1 §eT 10 § e T &5 H a8 14 31 SfGd T 6 B
forsepf:

1. amfior & # STTeen wedt & @1 ger | o B

11. <t a5 &t gam o sifiresir di wreior a5 # T € R # ed B

Only conclusion I follows

A
Faa fresd 1 SRR a1 &
Only conclusion II follows
B
Faa Frep 11 SFERo FRaT §
Either conclusion I or II follows
C
a1 ot s 14T IT SRR T §
Neither conclusion I nor II follows
D

T@ Frepd 1 3R 7 & 11 IR BT @
Correct Ans : B

Subject : Mental Ability
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Q.No: 75 To correct the equation given below, which two symbols should be mutated?

2436533
12x3+8+4-5=31
A fw Ty wriieRe B O FA F R, F-9 S vt B Iaiafia fear s afRee
12x3+8+4-5=31
»* and —
A
x HT—
+ and -
B
+ 3R -
+and +
C
SR
x and =
D
x =

Correct Ans : D

Subject : Mental Ability

Q.No: 76 Sunday falls on 4 May, 1886 what will be the day on 4 May, 1887?
2437411

473, 1886 $I IIAR US @1 §, 4 A, 1887 P! $I- 41 fa= grme

Monday
A

GILGIN

Tuesday
B

HITAR

Thursday
C

TR

Saturday
D

RIECIN

Correct Ans : A

Subject : Mental Ability

Q.No: 77 Reaching a place of appointment on Friday, I found that I was two days earlier than the scheduled day. If I had reached on the following Wednesday, how many
2437432 days late would I have been?

YhaR HT Fgfed & ™M W ugge 79 i & Fufid @7 9 &) 37 uga 11 aft & onmet geaR &Y uggar, @ & fam o Je gare
One day

T A

B Two days
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qfea

Three days
C

& e

Four days
D

=R &

Correct Ans : C

Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller cubes have only one painted
2438455 (5ce?

T T HI Ue fbar SaT § 3R 64 B 3R TAM °AT | PIeT Wl 8, R el Bt gaH JHT T 81 Ifhan B o4 H 31 U T g3l had 872

24
A

24

26
B

26

28
C

28

32
D

32

Correct Ans : A

Subject : Mental Ability

Q.No: 79 Complete the following series
2438775

5,5, 10, 30, 120, 600, ?

Frafafad s & @ B
5, 5, 10, 30, 120, 600, ?
4200

4200
1800

1800
2400

2400
3600

3600
Correct Ans : D

Subject : Mental Ability
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Q.No: 80 Aarti said to Megha that ‘you are the wife of my sister’s father’. How is Megha related to Aarti?
2439342

R 3 A1 | Bl 5 'qH A 76 b fOar B Uell 811 A7 AR Y P TR Feifda 82

Aunt
A

Tt

Sister
B

989

Mother
C

Hi

Wife
D

et

Correct Ans : C

Subject : Mental Ability

Q.No: 81 Nikhil is 8 year younger than his brother Rohan. How old will Rohan be when he is twice as old as Nikhil?
2442247

T o Wi e I 8 a¥ BT ¥1 g I b af 1 g o ag YW § g S &1 grme

4 years
A

4 qf

6 years
B

6 a9

8 years
C

8 9y

16 years
D

16 af

Correct Ans : D

Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442779

BANDAGED

fau MU dofre weal H ¥ 98 Weg I S AU MU Weg & S1eRY HT WA HRb TeT SR S G|

BANDAGED
Banged

A
Banged
Band

B

Band
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Bean
C

Bean

Bager
D

Bager

Correct Ans : D
Subject : Mental Ability

Q.No: 83 Five dresses A, B, C, D and E are kept in a boutique having different price tags. Dress A is the second most expensive dress. Dress E is costlier than only one
2727629 (ress. Neither dress B nor dress D is the cheapest. Dress B is costlier than dress D.Which dress is the cheapest?

TH GIH H SHT-3Ha eI P Ud UIRF A, B, C, D 3R E & Tff &1 Ui A gut Gad Heelt iR g1 UIRNe E bad U Uk B gor B Il g1 A1 o Wi B 9 AT §
TR D Fod Tt 31 W D FY gor & W B WETh 81 HF W e qed Tt 32

A
A
B

C

E
C

E

D
D

D

Correct Ans : B

Subject : Mental Ability

Q.No: 84

2782045 If + is replaced by x :

- is replaced by +

x 1s replaced by +

+ 15 replaced by —

Then answer the following question based on this information.
150x5+3+10-1=7

Tfe + Frx § yfaraioa frarsmare
-+ B yfaera Farsrarg
x I + @ Ifararig fraramarg
+ Hl - Fyfaraig Farsmarg

AT ATAFHI  HTUR R U T geat F 337 |
150 x5+3+10-1=7

-1
A

-1

-2
B

-2
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1
Correct Ans : D

Subject : Mental Ability

Q.No: 85 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
2782062

10, 37, 145, 577, ?

T 3T e mn &, o @ v U g 7| U T fiwedt # § 9% uet wew 9fie, S orgwH @ qu |

10, 37, 145, 577, ?

2305
A

2305

1235
B

1235

1877
C

1877

1747
D

1747

Correct Ans : A
Subject : Mental Ability

Q.No: 86 2940 can be expressed as a product of primes as
2427243

2940 BT YT TESHT F TOFHA & TU & ad a1 o Yo 8

2X2X3X5x7x7
A

2X2X3X5x7x7

2X2X3%x3x5x7
B

2X2X3%X3x5x7

2X2X3X5x5%x7
C

2X2X3X5x5%x7

2x3X3%x5x5%x7
D

2x3X3%X5x5%x7

Correct Ans : A

Subject : General Aptitude

Q.No: 87 Two iron sheets one is 9m long and the other us 15m long are to be cut into pieces of the same length. What will be the maximum length of each piece?
2427261
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AR P S IR TH 9 Hier Tl § IR gudt g 15 Hiex oiall M a1 & ghel B BT O 8| UAd ghs @I ifidan daTs o grf?

4 m
A

4 e

3m
B

3 Hiex

2m
C

2 Hiex

8m
D

8 Hiexy

Correct Ans : B

Subject : General Aptitude

Q.No: 88 Aman house is 96 km away from the nearest hospital, if he hires a taxi and speed of the taxi is 14 km/hr. Calculate the time by which taxi reaches hospital.
2427282

ST FT TR Fvead Ry ¥ 96 fFft R 7, 9t 95 oot T W dar 8 9iR el &t 7ifq 14 fprfly/eier B 1 St Y sruarer ugeR ® @ aTa 9 rd S|

8 hours
A

g °e

4 hours
B

49

7 hours
C

7 |

2 hours
D

2%

Correct Ans : B

Subject : General Aptitude

Q.No: 89 If a man runs at the speed of 28 km/hr rather than at 20 km/hr, he would have covered 36 km more. The actual distance travelled by him is:
2427340

3R HIS 3t 20 fHeit/Her Bt gomg 28 fhel/Her B TR I il At 98 36 b TG HoR BT | TS GRT TAT F T8 R gdf &

45 km
A
45 foft
75 km
B
75 it
60 km
c
60 faft
35 km
D

35 feult
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Correct Ans : C

Subject : General Aptitude

Q.No: 90 A train consists of 30 carriages, each having length of 80 m. When an engine of length 100 m is running at the speed of 90 km/hr. Calculate the time by which
2427375 the train passes the bridge which is 1500 m long.

30 M P TH I, UAF BT TaTs 80 Hier 31 9F @aTs 100 Hiex HT I 90 faHil/eier 3 uaR | 9 6T B
1500 Hiex 9aT g UR &= & o ¢ §RT T arel 999 1 TT0AT R

160's
A
160 &S
270 s
B
270 AHS
320s
C
320 IFs
330s
D
330 AFs

Correct Ans : A

Subject : General Aptitude

Q.No: 91  Find the largest fraction of the following fractions?
2432022

fofafaa sl & § 9o o<t i ra sifsne?
E
22

17
23

27
33

27
33

37
43

37
43

47
33

47

33

Correct Ans : D

Subject : General Aptitude

Q.No: 92 The efficiencies of A, B and C are in the ratio 2 : 5 : 7 working together, they can complete a work in 10 days. In how many days will, A alone be able to
2436090 complete 30% of that work?
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A, B 3R C P Gl 2: 5: 7 F U § 8 T I TP 1Y $TH &R g3, J 10 AT H o1 o1 9t §1 e oAl H, A 31pet I BT BT 30% TRT HR UTWM?

30
A
30
28
B
28
20
C
20
21
D
21

Correct Ans : D

Subject : General Aptitude

Q.No: 93 A and B together can do a piece of work in 36 days, B and C together can do it in 24 days. A and C together can do it in 18 days. The three working together
2436117 cap finish the work in

A 3R B 5 o 3 fder 36 37 § % Jobd §, B 3R C fAdid I8 24 o & o Ibd g1 A 3R C fraer 39 18 37 7 % Iobd 81 I fidiex e 3 ) S8 fpam faa &
T HN?

8 days

8 fam
16 days

16 &7
30 days

30 fa
32 days

32 fam

Correct Ans : B

Subject : General Aptitude

Q.No: 94 If the six digit number 15x1y?2 is divisible by 44, then (x + y) is equal to:
2436204

T BE 3P B TET 15x1y2, GO 44 | TAUST B A (x + y) IR B

8
A

8

7
B

7

6
C

6
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9

Correct Ans : B

Subject : General Aptitude

Q.No: 95 If 20 Men can do a piece of works in 18 days working 5 hours per day, In how many days can 25 Men do it working at the rate of 6 hours per day?
2438238

T 20 YBY Ufdfe 5 62 1 IR gU et & &t 18 31 #f &= THha €, Y 25 e UfAfe 6 62 I R A W B B fban A H 2 Thal §2

10 days
A

10 faa

11 days
B

11 fa=

12 days
C

12 fe=

13 days
D

13 fem

Correct Ans : C

Subject : General Aptitude

Q.No: 96 An examination consists of two sections with six questions in each section. A student has to answer eight questions with at least three questions from each
2444159 gection. In how many ways can the student answer the questions?

T e § ) TS B € R vl TS A o8 U4 €A €1 TP OF B TS TS I A Q B I US & Iy 3416 U BT IR A1 g 2
faeneff forae Tt ¥ Ul 7 IR & oba 82

465

465

580

580
432

432

524

524
Correct Ans : A

Subject : General Aptitude

Q.No: 97 The number of ways in which 5 boys and 5 girls can be seated along a circular table such that the boys and girls are in alternate sequence is
2444386

5 ASHI T4 5 ASIHAl B U JalibR Aol & IRI 3R Fd fba aiid Y SoTU o Thd ¢, S ASP 9 TS hdl TR HH H §h:
2880

2880
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2780
B

2780

2890
C

2890

2870
D

2870

Correct Ans : A

Subject : General Aptitude

Q.No: 98 The length of the diagonal of a rectangle is 26 cm and one side is 10 cm. Find the area of the rectangle.
2444437

TF oI & ol Bt T’y 26 I, B1 TH Y B qwIcy 10 It 7 | SR BT ST I BRI

130 square cm

A

130 7 &

65 square cm
B

65 T At

260 square cm
C

260 & It

240 square cm
D

240 Tif Qi

Correct Ans : D

Subject : General Aptitude

Q.No: 99 What will come in place of the question mark (?) in each of the following number series?
2444757

5,12,17, 29, 46, 75, 121,

fofafad & 9 <t g8 gaa & uy % (?) & A W 1T

5,12, 17, 29, 46, 75, 121,

185
A

185

196
B

196

192
C

192

188
D

188

Correct Ans : B

Subject : General Aptitude
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Q.No: 100 ABCD is a square, E is a point on AB such that BE = 17 cm. The area of triangle ADE is 84 cm. What is the area of square?

2730257
ABCD & aif B, E, AB W Us faig 39 YR & 5 BE = 17 ¥, f3ySl ADE &1 &%at 84 it B, ot @i &1 &1t @ €2
400 cm?
A
400 HHR
625 cm?
B
625 AR
729 cm?
C
729 FH
576 cm?
D
576 AR

Correct Ans : D

Subject : General Aptitude
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